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Q1 What are fundamental units?

a) Length, Mass, Volume

b) Length, Mass, Time

c) Length, Mass, Area

d) Length, Pressure, Volume

Ans X A a
o B.b
X C.c
X D.d

Question ID : 2141273530
Status : Answered
Chosen Option: B




Q.2

2x, 2x IR 3x YIS AT THTH PT AT &

a2y Ix
b) 6x3
€
d) 12x*

Ans X A a
& B.b
X C.c
o D.d

Question ID : 2141273512
Status : Answered
Chosen Option: D

.3
e What is the square root of 529?

a) 13
b) 23
c) 33
d) 43

Ans X A a
o B.b
X C.c
/< D.d

Question ID : 2141273532
Status : Answered
Chosen Option: B




Q.4

Ans

Choose a drilling machine for drilling multiple holes of larger diameters
on large job.

a) Bench drilling machine

b) Pillar drilling machine

¢) Column drilling machine

d) Radial drilling machine

X Aa
X B.b
X Cec
o D.d

Question ID : 2141273449
Status : Answered
Chosen Option: D

Q.5

Ans

A metal with thickness 7 mm and 0.1 mm respectively will be called

a) Sheet, Sheet
b) Sheet, Plate
¢) Plate, Foil
d) Sheet, Foil

N Aa

& B.b

o C.c

/< D.d

Question ID : 2141273480
Status : Answered
Chosen Option: B

Q.6

Ans

Which of the following principles is used in Jig and Fixtures ?
a) 2-3-1 principle
b) 3-2-1 principle
c¢) 1-2-3 principle
d) None of the above

KA a
& B.b
X Cec
X D.d

Question ID : 2141273481
Status : Not Answered
Chosen Option : --




Q7 The minimum distance from the rivet hole (diameter d) centre to the
plate edge is

a) 1d

b) 1.5d

¢) 2d

d) 2.5d

Ans X A a
& B.b
X Cc
X D.d

Question ID : 2141273475
Status : Answered
Chosen Option : C

Q.8
A screw is specified by

a) Nominal dia.

b) Minor dia.

¢) Pitch Circle dia.
d) None of the above

Ans  # Ala
X B.b
X Cec
25 D.d

Question ID : 2141273476
Status : Answered
Chosen Option : A

Q.9
The tool used to cut external threads is known as

a) Punch
b) Drill bit
c) Tap
d) Die
Ans X A a

X B.b

X Cc

o D.d

Question ID : 2141273466
Status : Answered
Chosen Option: D




Q10 Convert 4.307 mm into microns

a) 0.004307 microns
b) 430.7 microns
¢) 0.0004307 microns
d) 4307 microns
Ans X A a

& B.b

X Cc

o D.d

Question ID : 2141273508
Status : Answered
Chosen Option: D

.11
Q If a bolt is designated as M12 x 1.25, then 1.25 designates the

a) Diameter
b) Pitch
c) Angle

d) Distance between crest and trough

Ans X A a

« B.b

X C.c

X D.d

Question ID : 2141273462
Status : Answered
Chosen Option : A

Q.12

Thread inserts are used to
a) Improve toughness
b) Improve fitting
¢) Improve wear resistance

d) Reduce threading time

Ans X A a
/< B.b
o C.C
/< D.d

Question ID : 2141273490
Status : Answered
Chosen Option: C




W Ay AR

Ans

a) ORI
b) IBTEC
NRIGE
d) T

X Aa
o« B.b
X C.c
/< D.d

Question ID : 2141273535
Status : Answered
Chosen Option: B

=

Q.14

Ans

Stokes ___ PIZBRE T
a) el Sl
b) GaTd
c) W@m
d) TSN §d

X Aa

X B.b

o C.C
/< D.d

Question ID : 2141273495
Status : Answered
Chosen Option : A




**  Nibbling is carried out to improve

a) Stiffness

b) Ductility

c¢) Surface finish

d) None of the above

Ans o Ala
& B.b
X Cc
/< D.d

Question ID : 2141273489
Status : Answered
Chosen.Option: C

10 o & TP TaPY B Y U ool od | Foraf g qu Bt 8, 39
__ DEIuIe
a) lSawIHIE
b) fga @t aifa
SAEEEIRGAE
d) At s

Ans  # Ala
/< B.b
X C.c
X D.d

Question ID : 2141273470
Status : Answered
Chosen Option : A




17" The thread angle of a Metric Thread is

a) 90 degrees
b) 60 degrees
¢) 30 degrees
d) 120 degrees

Ans X A a

o B.b

X Cc

X D.d

Question ID : 2141273463
Status : Answered
Chosen Option: B

Q.18

In grinding wheel, grade denotes
a) Grain size
b) Type of abrasive
¢) Hardness

d) Structure

Ans X A a
/< B.b
o« C.c
X D.d

Question ID : 2141273502
Status : Answered
Chosen Option: B




Q.19

Ans

The crest radius of Whitworth thread in terms of Pitch (P)

a) P

b) 0.41P
c) 0.14P
d) 0.5P

X Aa
/< B.b
@ C.c
/< D.d

Question ID : 2141273465
Status : Answered
Chosen Option : D

Q.20

Ans

Which strength of plays crucial role in metal forming?
a) Tensile strength
b) Shear Strength
¢) Yield strength
d) Flexural strength

X Aa
& B.b
@ Cc
/< D.d

Question ID : 2141273441
Status : Answered
Chosen Option: A

Q.21

Ans

The property of metal to be formed into wires is called
a) Malleability
b) Ductility
¢) Toughness
d) Hardness

X Aa
o B.b
X C.c
X< D.d

Question ID : 2141273479
Status : Answered
Chosen Option: B




2 g % @RI P 3PS T 87

Ans

a) e AHs
b) HeRAFHS?
c) Hiey/fime
d) Hiezzer

X Aa

& B.b

X Cc
X D.d

Question ID : 2141273540
Status : Answered
Chosen Option : A

Q.23

Ans

TE U AHHd B 8 T BT T B 3 3 T 3 AN 3V 64
Hiil B sriad HA H fobd i ol
a) 20 days
b) 22 days
¢) 24 days
d) 26 days
X Aa
/< B.b
o C.c
X D.d

Question ID : 2141273533
Status : Answered
Chosen Option: C




Q.24
Brass is an alloy of which metals?

a) Copper and aluminium
b) Copper and lead
¢) Copper and zinc

d) Copper and tin

Ans X A a
/X B.b
o C.C
/< D.d

Question ID : 2141273538
Status : Answered
Chosen Option: C

Q.25
Least count of Engineer’s steel rule is

a) 1 mm

b) 0.1 mm
c¢) 0.2 mm
d) 0.5 mm

Ans X A a
< B.b
X Cc
 D.d

Question ID : 2141273459
Status : Answered
Chosen Option: D

Q26 1 a hole basis system, the lower deviation for the hole ‘H” is

a) 0 mm

b) 0.8 micron
¢) 0.01 mm
d) 0.01 micron

Ans  # Ala
X B.b
X Cc
2 D.d

Question ID : 2141273445
Status : Answered
Chosen Option : A




Q.27

Ans

TTEEE T BT YA 7.8 gm/ecm> 81 A1 10 cm X 5 cm X 20 cm & AT
F U U6 K d & AP T GqH kg 81

a) 780
b) 7.8
c) 7800
d) 78

X Aa
& B.b
X Cc
/< D.d

Question ID : 2141273520
Status : Not Answered
Chosen Option : --

Q.28

Ans

In piercing operation, clearance is provided on
a) Punch
b) Die
¢) Both punch and die

d) Clearance not provided

X Aa
& B.b
X Cc
X D.d

Question ID : 2141273492
Status : Answered
Chosen Option: C




Q.29 . : :
The distance moved by bolt by one rotation of nut is called

a) Pitch
b) Crest
c¢) Trough
d) Lead
Ans X A a
< B.b
X C.c
& D.d

Question ID : 2141273484
Status : Answered
Chosen Option : A

Q.30
HSS Stands for

a) High Strength Steel
b) High Stiffness steel
c¢) Heavy Strength steel
d) High speed steel

Ans X A a
X B.b
X C.c
 D.d

Question ID : 2141273447
Status : Answered
Chosen Option: D




@31 Which type of gear is used for transmitting motion between two shafts
axes at 90 degree ?
a) Spur gear
b) Helical gear
¢) Rack and pinion
d) Bevel Gear

Ans X A a
X B.b
X Cc
o D.d

Question ID : 2141273527
Status : Answered
Chosen Option : D

32 amad eetie) 1 Yo 2:3  3gurd A €, afe By 100
fhreiiiiex 8, dt omud &1 ufumg (GRifieR) fieitiex
gl

a) 500
b) 5

¢) 50
d) 5000

Ans o Ala
/< B.b
X C.c
< D.d

Question ID : 2141273519
Status : Not Answered
Chosen Option : --




Q.33

Ans

12, 18, 6, 36 T AT JHYGAD (LCM) fasa1 R

a) 12
b) 18
¢) 36
d) 42

X A a
/< B.b
o C.c
X D.d

Question ID : 2141273531
Status : Answered
Chosen.Option: C

Q.34

Ans

The process of producing a flat seat for a bolt head at opening of drilled
hole is

a) Jig Boring

b) Counter boring

¢) Reaming

d) Counter sinking

X Aa
 B.b
X Cc
X D.d

Question ID : 2141273443
Status : Answered
Chosen Option: C




Q.35

Ans

One degree =

a) 60 Second
b) 10 minutes
¢) 60 minute
d) 100 minutes

N Aa

& B.b

o C.c

/< D.d

Question ID : 2141273511
Status : Answered
Chosen Option: C

===

Q.36

Ans

As per Indian standard grain size 46 in the grinding wheel comes under
which category

a) Coarse
b) Medium
¢) Fine
d) Very fine
X Aa
o B.b
X C.c
X D.d

Question ID : 2141273528
Status : Answered
Chosen Option: D

Q.37

Ans

In Double start thread, if pitch is 10 mm then Lead (in mm) is
a) s
b) 10
c) 20
d) None of the above

X Aa
X B.b
o C.C
/< D.d

Question ID : 2141273471
Status : Answered
Chosen Option: C




@38 Carbon content in wrought iron is

a) 0.1-0.2%
b) 0.2-0.3%
¢) 0.01-0.1%
d) 0.0%

Ans X A a
X B.b
o C.c
X D.d

Question ID : 2141273450
Status : Answered
Chosen Option : A

Q.39
Thread plug gauge is used to check

a) External thread
b) Internal thread
¢) Hole
d) Shaft

Ans X Aa

& B.b
X Cc
X D.d

Question ID : 2141273504
Status : Answered
Chosen Option: B

Q40 Tncluded angle of a V block (in degrees) is
a) 90 /
b) 120
c) 45
d) 75
Ans A a
/X B.b

X Cec
X D.d

Question ID : 2141273505
Status : Answered
Chosen Option : A




Q.41

Ans

Jig is used for
a) Holding the job and guiding the tool
b) Holding the job only
¢) setting work piece on machine

d) Easy movement of job

W Aa
/< B.b
X C.c
X D.d

Question ID : 2141273478
Status : Answered
Chosen Option : A

Q.42

Ans

A fit designated as 30 H7d6 is
a) Clearance fit
b) Transition fit
¢) Interference fit

d) Tolerance fit

W A a
/X B.b
X Cc
/< D.d

Question ID : 2141273452
Status : Answered
Chosen Option: C

Ans

43 3 p T Tl 1 T 43 §, IAPT U

a) 262
b) 363
¢) 462
d) 562
KA a
X B.b

@ Cc
X D.d

Question ID : 2141273523
Status : Not Answered
Chosen Option : --




Q.44

Ans

Tl BT S1HES §
a) dIc

b) S[d
¢) e
d) TR

X Aa

o B.b

X C.c

X D.d

Question ID : 2141273472
Status : Answered
Chosen Option: B

Q.45

Ans

What is size of A3 Paper ?

a) 210 x 297 mm
b) 148.5 x 210 mm
¢) 297 x 420 mm
d) 420 x 594 mm
X Aa

/< B.b

@ C.c
X D.d

Question ID : 2141273529
Status : Not Answered
Chosen Option : --

Q.46

Ans

BHN is unit of
a) Toughness
b) Tensile strength
¢) Young’s modulus
d) Hardness

X Aa
/< B.b
X C.c
& D.d

Question ID : 2141273487
Status : Not Answered
Chosen Option : --




Q.47

Ans

In relation to grinding operation, dressing of wheel refers to
a) Shaping of the wheel
b) Restoring the cutting action of the wheel
¢) Changing of wheel
d) Making the wheel concentric with rotational axis.

X Aa
& B.b
X Cc
X D.d

Question ID : 2141273442
Status : Answered
Chosen Option: D

Q.48

Ans

@I A 0T & HROT YT AR] a1 71 96 gR R WR 301 g
PR RO HR AT § 2
a) ATITAdE!
b) Tedl
¢) A (FameRid)
d) el (e
X Aa
X B.b

@ Cc
/< D.d

Question ID : 2141273537
Status : Answered
Chosen Option: C

Q.49

Ans

40 T2 Sfcros @) BRAISE H $a¢ B
a) 32°F
b) 72 °F
c) 40 °F
d) 104 °F
X Aa
X B.b
X Cc
o D.d

Question ID : 2141273496
Status : Answered
Chosen Option: D




Q50 1y tapping operation, the first tap, second tap and bottoming tap differ in

their
a) Thread pitch
b) Thread size
c¢) Taper lead
d) Type of thread

Ans X A a

& B.b

o C.C

/< D.d

Question ID : 2141273456
Status : Answered
Chosen Option: D

Q.51

TS TEl (@len A AP preqadHe . ®
a) Ud Pyt
b) G
¢) U g &1 AT IS
d) &l B

Ans X A a
/X B.b
g C.C
/< D.d

Question ID : 2141273500
Status : Answered
Chosen Option: C




Q.52

Ans

Check nuts prevents
a) Loosening of screw over a period of time
b) Breaking of screw
c¢) Corrosion of screw

d) All of the above

o A a
/X B.b
X Cc
X D.d

Question ID : 2141273491
Status : Answered
Chosen Option: D

Q.53

Ans

The value of surface roughness ¥ ¥ ¥ (in microns) is
a) 8§-25
b) 1.6—8
c) 0.025-1.6
d) <0.025

X Aa
/X B.b
o C.c
/< D.d

Question ID : 2141273516
Status : Not Answered
Chosen Option : --

Q.54

Ans

Ultrasonic test is used to determine
a) Toughness
b) Shear strength
¢) Endurance limit

d) Crack location

X Aa
X B.b
X Cc
o D.d

Question ID : 2141273457
Status : Answered
Chosen Option: D




Q.55 m_%

a) a1 Ufd 3BTS &l

b) §6 Ufd SFTS deTS

¢) SoOHH Ufd 3PTS &7k

d) 3Tad ufd 318 g7

Ans  # Ala
X B.b
X Cec
5 D.d

Question ID : 2141273448
Status : Answered
Chosen.Option : A

¥ 4R e gd 1 o 7 AR B, Al SUDT &bt AR uREY
AT
a) 4900 mm?2 and 280 mm
b) 3850 mm2 and 220 mm
¢) 38.5000 m2 and 2.20 m

d) 49m2and 2.8 m
Ans X A a
& B.b
X Cc
X D.d

Question ID : 2141273509
Status : Answered
Chosen Option : A




Q.57
Lancing is a

a) Sheet metal operation
b) Turning operation
¢) Machining operation

d) Additive manufacturing operation

Ans  # Aa
X B.b
X Cec
/< D.d

Question ID : 2141273488
Status : Answered
Chosen Option : D

Q58 Which of the following parts of file is neither hardened nor tempered?

a) Edge
b) Heel
c) Tang
d) Body

Ans X A a
/X B.b
o C.C
/< D.d

Question ID : 2141273454
Status : Answered
Chosen Option: C




9w Ry @ Yol 6 TetHieR, 8 FHeR 3R 10 TR ¥ 3THT

Ans

&Fhd m2 | faraar g

a) 0.0048
b) 0.0030
¢) 0.0024
d) 0.0040

X A a

/< B.b

g C.C

X D.d

Question ID : 2141273514
Status : Not Answered
Chosen Option : --

Q60 fapeft 3203 fiyefl 3 U & 1Y U B & G, AR R.......

Ans

a) 0.3 fiedt
b) 3.3 faedt
¢) 0.6 ot
d) 3.6 foredt

X Aa
X B.b
o C.C
25 D.d

Question ID : 2141273446
Status : Answered
Chosen Option : B




Q.61

Ans

Which property of material enables permanent deformation without

fracture?

a) Elasticity
b) Plasticity
¢) Ductility

d) Brittleness

X Aa
« B.b
X Cec
X D.d

Question ID : 2141273536
Status : Answered
Chosen.Option: D

Q.62

Ans

Chisel is made of

a) HSS

b) MS

c¢) High Carbon Steel
d) Tungsten carbide

KA a
/< B.b
o C.c
/< D.d

Question ID : 2141273467
Status : Answered
Chosen Option: C




.63 . . .. .. ..
Q The difference between maximum and minimum limit of a size is known

as
a) Fit
b) Tolerance
c) Interference
d) Standard deviation
Ans X A a
o B.b
X C.c
X Dd

Question ID : 2141273444
Status : Answered
Chosen Option : B

aed Rotary motion is converted to linear motion using
a) Spur gear
b) Bevel gear
c¢) Rack and pinion
d) Helical gear
Ans X A a
X B.b
& C.c
X D.d

Question ID : 2141273526
Status : Answered
Chosen Option: B




Q65 g STER (RIASIEd) ¢F B Sl 7 HieR 3R 3™ 2000
ferefieiieR B 1 Tl 1 3 (diegw) T1d Pierd 31 I9H fAfgd fsan
o ThdT g

a) 22 Liters
b) 2200 Liters
¢) 22000 Liters
d) 14000 Liters
Ans X A a

& B.b

o C.c

/< D.d

Question ID : 2141273510
Status : Not Answered
Chosen Option : --

Q.66 The value of Sin 30 is

a) 1.0
b) 0.5
c) 0.66
d) 0.866
Ans X A a

o B.b
X C.c
X D.d

Question ID : 2141273515
Status : Answered
Chosen Option: B




Q87 72 Yo Hiex WEfdel B TR BT T 300/ - H 341 W11 €, 3R I
25% ST BIdT § ol Wdle Jed 1 ?

a) Rs. 200
b) Rs. 220
¢) Rs. 240
d) Rs. 260

Ans X A a
/X B.b
o C.C
/< D.d

Question ID : 2141273534
Status : Answered
Chosen Option: B

Q68 \Which alloy steel is used to make permanent magnets?

a) Silicon steel
b) Manganese steel
¢) Vanadium steel
d) Cobalt steel

Ans X A a
/< B.b
X Cec
& D.d

Question ID : 2141273539
Status : Answered
Chosen Option: B




Q69 Eor drilling operation, if RPM remains same, and diameter of drill

increases, cutting speed will
a) Increase
b) Remain same
¢) Decrease

d) None of these

Ans A a
X B.b
X Cc
X D.d
Question ID : 2141273494
Status : Answered
Chosen Option: C
Q.70 oy
Lead is lighter than

a) Stainless Steel

b) Mercury

¢) Aluminum

d) High speed steel
Ans X A a

& B.b
X C.c
X D.d

Question ID : 2141273482
Status : Answered
Chosen Option: B

===

ar Which of the following grades of SS is non-magnetic?

a) SS 403

b) SS316L

c) SS416

d) None of the above
Ans X Aa

o B.b
X Cec
X D.d

Question ID : 2141273451
Status : Not Answered
Chosen Option : --




Q.72

Ans

Density of mild steel is
a) 7800
b) 7.8
c) 2700
d) 2.7

X A a
& B.b
X Cc
X D.d

gm/cm’

Question ID : 2141273460
Status : Answered
Chosen Option: B

-

@7 =g} B &A1 1 g8 gEId: ba gRI gl 82

Ans

a) T (HSa-M)
b) TG (H-aaM)
c) fafez
d) dfdcaT

X Aa

« B.b

X C.c
X D.d

=

Question ID : 2141273498
Status : Not Answered
Chosen Option : --

Q.74

Ans

The spiral grooves which run to the length of the drill are known as

a) Tang
b) Flutes
¢) Point
d) Body

KA a
& B.b
X Cc
X D.d

Question ID : 2141273455
Status : Answered
Chosen Option: B




Q.75

Ans

T U (U ) T YT (U9 ) P01 (S ) ©

a) 45
b) 39
c) 29
d) 23

X Aa
/X B.b
@ C.c
/< D.d

Question ID : 2141273464
Status : Answered
Chosen Option: C

Q.76

Ans

Which of the following is not a surface hardening process
a) Case hardening
b) Nitriding
¢) Induction hardening

d) Tempering

X Aa
/< B.b
X C.c
o D.d

Question ID : 2141273506
Status : Answered
Chosen Option: D

77 gy 10 gl sl 1 2

Ans

a) 55
b) 10
c) 54
d) 110

W Aa
/< B.b
X C.c
X< D.d

Question ID : 2141273507
Status : Not Answered
Chosen Option : --




are If the dimension of the male part is larger than female part, the fitis ___
a) Transition fit
b) Interference fit
¢) Ringing fit
d) None of the above
Ans X A a
o B.b
X C.c
X D.d

Question ID : 2141273524
Status : Answered
Chosen Option : B

a7 Emery paper No. 320 is smoother than Emery paper no.

a) 100
b) 400
c¢) 1000
d) None of these
Ans A a
X B.b
X Cc
X D.d

Question ID : 2141273483
Status : Answered
Chosen Option : A

Q80 oo fEf = Bircpr|

a) 2n/3
b) n/2
¢) 4n/3
d) 2n/5
Ans  # Aa
& B.b
X Cc
/< D.d

Question ID : 2141273522
Status : Answered
Chosen Option: B




Q.81 EiﬁTgilﬂSIETﬂ%%
a) ez
b) frefidieR
c) Hdiex
d) feadiex
Ans o A a
X B.b

X Cc
X D.d

Question ID : 2141273458
Status : Answered
Chosen Option : A

Q.82
Ability of material to withstand shock and impact is called

a) Hardness
b) Toughness
c¢) Ductility
d) Brittleness

Ans X A a
& B.b
X Cc
X D.d

Question ID : 2141273461
Status : Answered
Chosen Option: B

Q.83
01 AR = B IECIE

a) 100
b) 1/100
¢) 1000
d) 1/1000

Ans X A a
X B.b
X C.c
 D.d

Question ID : 2141273521
Status : Answered
Chosen Option: D




Q.84

Ans

In a gear of 20 teeth and Pitch circle diameter of 100 mm, the module (in
mm) is

a) 2000

b) 5

c) 80

d) 120

X Aa
& B.b
X Cec
X D.d

Question ID : 2141273501
Status : Answered
Chosen Option : B

Q.85

Ans

Pl FzeE?
a) Hdlg aX
b) ATIHM
¢) adld
d) HHEAT

X Aa
& B.b
X C.c
/< D.d

Question ID : 2141273473
Status : Answered
Chosen Option: B




Q.86
Wringing is term used in
a) Metal testing
b) Calibration of instruments
¢) Defect in Vernier Calliper
d) Slip gauge
Ans X A a
X B.b
X C.c
o D.d

Question ID : 2141273468
Status : Answered
Chosen Option: B

87 frea 3 ez AR SATE 4 Hiex a1 Y BT ST
cm3%|

a) 12x@
b) 36000000 m
¢) 12000000 &
d) 36

Ans X A a
X B.b

@ C.c
2 D.d

Question ID : 2141273518
Status : Not Answered
Chosen Option : --




Q.88 |- 335 fhanie =

a) 1233.5
b) 123.35
¢) 12335

d) 0.12335

Ans X A a
& B.b
@ C.c
/< D.d

Question ID : 2141273513
Status : Answered
Chosen Option: C

Q.89 N-m_ﬁ’ﬁ?g?ﬂg%
2) 9 Ui gbTS TlaTs
b) FRufos et
c) ica
d) gdg a1d
Ans X A.a
X B.b

@ C.c
X D.d

Question ID : 2141273474
Status : Answered
Chosen Option : A




Q.90

Tempering is done for
a) Increasing hardness
b) Increasing toughness
c) Increasing brittleness

d) Increasing melting point

Ans X A a

o B.b

X Cc

X D.d

Question ID : 2141273497
Status : Answered
Chosen Option : A

Q.91

Ans

T it YU & Smrd JSrsi o ot =i i (&t o) =1
87

a) 60
b) 120
c) 145

d) STH A BIS T

X Aa
& B.b
X C.c
/< D.d

Question ID : 2141273517
Status : Not Answered
Chosen Option : --




Q.92
Which of the following materials is having maximum brittleness

a) Copper
b) Cast iron
c¢) SS 304
d) Mild steel

Ans X A a
o B.b
X Cec
X D.d

Question ID : 2141273477
Status : Answered
Chosen Option : B

Q93 The process of making cup shaped components from sheet metal
blankis
a) Deep Drawing
b) Extrusion
c) Blanking
d) Perforating

Ans  # Ala
/X B.b
X C.c
/< D.d

Question ID : 2141273499
Status : Not Answered
Chosen Option : --




Q.94

Ans

T &1 g9 gm/cm’ g
a) 1.5
b) 2.7
c) 4.6
d) 7.8
N Aa
& B.b

X Cec
X D.d

Question ID : 2141273486
Status : Answered
Chosen Option: B

% g Bl & afiaR Ta & 50 fEdem gor wha & 49 fEdiem!

Ans

& TSR g | T Whd ST 30 frefi B 3R 20 a1 affiR Wt f&diom

T W & 91 Ad @Tal g | e an g @ dy
a) 304
b) 30.04
¢) 30.02
d) 302

o A a
/< B.b
X C.c
< D.d

Question ID : 2141273503
Status : Answered
Chosen Option: C




Q.96
For an [SO M5 thread with standard pitch the recommended drill

diameter for tapping is

a. 4.0 mm
b. 4.2 mm
c. 4.5 mm

d. 3.8 mm

Ans X A a
& B.b
X C.c
X D.d

Question ID : 2141273469
Status : Answered
Chosen Option: C

Q97  Bronze is an alloy of
a) Copper and zinc
b) Copper and tin
¢) Copper, tin and zinc
d) None of these

Ans X A a

& B.b
X Cc
X D.d

Question ID : 2141273485
Status : Answered
Chosen Option: B

Q98 The width of cut produced by Gas cutting operation is called

a) Bevel
b) Gouging
¢) Kerf
d) Damp

Ans X A a
<X B.b
o C.C
X D.d

Question ID : 2141273453
Status : Answered
Chosen Option: C
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a) UGS IV (B e
b) TR B (Y T
¢) ZHACD
d) Tifdaca

Ans X A a

& B.b
X Cc
X D.d

Question ID : 2141273525
Status : Answered
Chosen Option: C

Q100 pfetal plates mostly are made by

a) Forging
b) Casting
¢) Extrusion
d) Rolling

Ans X A a
X B.b
X C.c
& D.d

Question ID : 2141273493
Status : Answered
Chosen Option : A




